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Question: 1 
   
The main campus scenario of the S12700 agile switch cannot be deployed in the data center or 
metropolitan area network. 
 
A. True 
B. False 
 

Answer: B     
 

Question: 2 
   
ur company supports the leading multi-layer network virtualization (SVF function). The parent node of 
this function needs to be configured with a license. The product supporting the parent node is a frame 
switch, 6720EI/SI, 5720HI series. 
 
A. True 
B. False 
 

Answer: B     
 

Question: 3 
   
Smartx intelligent video backhaul solution supports GPON and Eth backhaul modes. 
 
A. True 
B. False 
 

Answer: A     
 

Question: 4 
   
What is the correct statement about CSS2? 
 
A. The only switching network hardware cluster in the industry directly forwards device-to-device 
control and data packets through the switching network without occupying valuable service slots. 
B. The control and monitoring planes are unified. When the main control fails, the whole machine loses 
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the monitoring plane and is down. 
C. The 10 Gigabit port of the cluster subcard can be used as a service port at the same time. 
D. At least one master is available in each box, and the cluster will not split. 
 

Answer: A     
 

Question: 5 
   
The correct description of the S12700 positioning is as follows: 
 
A. The S12700 agile switch is used to locate the agile campus. The non-agile campus scenario is not 
recommended. 
B. The S12700 locates the core of the campus and can also be applied to the aggregation layer. The 
traditional data center scenario can also be applied. 
C. S12700 corresponds to Cisco's competitors mainly to combat N7K 
D. S12700 corresponds to H3C competitors mainly against S12500, and can be combined with S77's 
upper and lower pinch 
 

Answer: B     
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